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Constant Velocity Additional Problems -KEY
1.
Robin, rollerskating down a marked sidewalk, was observed at the following positions at the times listed below:

	 t (s)


	 x (m) 



	0.0


	10.0

	1.0


	12.0

	2.0


	14.0



	5.0


	20.0



	8.0
	26.0



	10.0
	30.0



 

 
a.
Plot a position vs. time graph for the skater. 

  

b.
Explain how you can use the graph to determine how far he was from the origin at t = 6.0s. 


One could go along the x-axis until they get to the 6 s, then go up the line for 6 until they get to their line and see it has the value of 22m at that location.  

  

c. Determine the slope of the graph and write a sentence describing the slope.
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For every 1 second the roller skater moves an additional 2 meters in position.
d. State the vertical intercept and describe the meaning of the vertical intercept. 

e. Write a mathematical expression that describes the skater's motion. 
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f.
Was his speed constant over the entire interval? How do you know? 

  It was constant for the points where data was taken as every point is on the best-fit line.
 

g. Draw a velocity time graph. 

 

 


 

f. Determine the displacement of the roller skater. 


Area of the velocity time graph ( 2*10= 20 m 



Or 



Final position – initial position of the x vs t graph ( 30-10 =20m
t (s)





x (m)
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